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1- Polar Coordinates

This is not, however, the only way to define a point in two dimensional space. Instead of moving
vertically and horizontally from the origin to get to the point we could instead go straight out of
the origin until we hit the point and then determine the angle this line makes with the positive x-
axis. We could then use the distance of the point from the origin and the amount we needed to
rotate from the positive x-axis as the coordinates of the point. This 1s shown in the sketch below.
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Coordinates in this form are called polar coordinates.

The above discussion may lead one to think that » must be a positive number. However, we also

allow r to be negative. Below is a sketch of the two points (2._ %) and (—2. %) .
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This leads to an important difference between Cartesian coordinates and polar coordinates. In
Cartesian coordinates there is exactly one set of coordinates for any given point. With polar
coordinates this isn’t true. In polar coordinates there 1s literally an infinite number of coordinates
for a given point. For instance, the following four points are all coordinates for the same point.

R

Here is a sketch of the angles used in these four sets of coordinates.
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These four points only represent the coordinates of the point without rotating around the system
more than once. If we allow the angle to make as many complete rotations about the axis system
as we want then there are an infinite number of coordinates for the same point. In fact the point

(r. ) can be represented by any of the following coordinate pairs.

(r.0+27n) (—r, 0+(2n+ 1) ﬂ'), where 7 1s any integer.

Polar to Cartesian Conversion Formulas

x=rcosf y=rsiné

Converting from Cartesian 1s almost as easy. Let’s first notice the following.
2 +3? =(rcos8) +(rsin6)’
=r’cos’@+r’sin’ @
=r? (c(}s2 6 +sin’ (9] =r

This is a very useful formula that we should remember, however we are after an equation for  so
let’s take the square root of both sides. This gives,

2 2
F=AX"+y



Note that technically we should have a plus or minus in front of the root since we know that r can
be either positive or negative. We will run with the convention of positive r here.

Getting an equation for &1s almost as simple. We’ll start with,
y rsinf

X rcosé

=tan @

Taking the inverse tangent of both sides gives,

6 =tan"’ (J— ]
\

We will need to be careful with this because inverse tangents only return values in the range
—Z% <6 <5 . Recall that there is a second possible angle and that the second angle is given by

O+

Summarizing then gives the following formulas for converting from Cartesian coordinates to
polar coordinates.

Cartesian to Polar Conversion Formulas

2 2 2 2 2
rT=x"+y r=4x"+y

6 =tan™ (J—’}
N

Example 1 Convert each of the following points into the given coordinate system.

21 ) . : :
(a) [—4_—) into Cartesian coordinates. [Solution]

(b) (-1.-1) into polar coordinates. [Solution]
Solution

2w
(a) Convert (—4.—} into Cartesian coordinates.

This conversion 1s easy enough. All we need to do 1s plug the points into the formulas.

X = _4005{2_7TJ: —4(—ijz 2
3 2

V= —45'111(2—]?) =—4 ﬁ =23

So, in Cartesian coordinates this point is (2, —2\6 ) .



(b) Convert (-1.-1) into polar coordinates.

Let’s first get r.

Now, let’s get 6.

af -1 P
f=tan™| — |=tan” (1)==
-1 4
This is not the correct angle however. This value of #is in the first quadrant and the point we’ve
been given is in the third quadrant. As noted above we can get the correct angle by adding 7 onto
this. Therefore, the actual angle is.

Sz
4

0="1r7-=
4

So. in polar coordinates the point is (\/5 . STT) . Note as well that we could have used the first

that we got by using a negative ». In this case the point could also be written in polar coordinates
as ( —\5 , %) .

Example 2 Convert each of the following into an equation in the given coordinate system.
(a) Convert 2x—5x” =1+ ay into polar coordinates. [Solution]
(b) Convert » =—8cos @ into Cartesian coordinates. [Solution]

Solution

(a) Convert 2x—5x” =1+ xy into polar coordinates.

In this case there really isn’t much to do other than plugging in the formulas for x and v (i.e. the
Cartesian coordinates) in terms of » and & (i.e. the polar coordinates).

2(rcos@)—5(rcos 6‘)3 =1+(rcosf)(rsmé)
2rcos@—5r cos’ @ =1+r’cosBsin b

(b) Convert » =-8cos @ into Cartesian coordinates.

This one is a little trickier, but not by much. First notice that we could substitute straight for the
r. However, there is no straight substitution for the cosine that will give us only Cartesian
coordinates. If we had an » on the right along with the cosine then we could do a direct
substitution. So, if an » on the right side would be convenient let’s put one there, just don’t forget
to put one on the left side as well.

2
r°=-8rcos@

We can now make some substitutions that will convert this into Cartesian coordinates.

2 2
X +y =-8x



2- _Common Polar Coordinate Graphs.
Let’s identify a few of the more common graphs in polar coordinates. We’ll
also take a look at a couple of special polar graphs.

Lines
Some lines have fairly simple equations in polar coordinates.

1. =0
We can see that this is a line by converting to Cartesian coordinates as follows

0=p
a(y
tan”' [J =pf
X
Y~ tan P
.
y=(tan g)x
This is a line that goes through the origin and makes an angle of £ with the positive x-
axis. Or, in other words it is a line through the origin with slope of tan /.

2. rcos@=a
This 1s easy enough to convert to Cartesian coordinates to x =a. So, this is a vertical
line.

3. rsmé=>~h
Likewise, this converts to y = b and so 1s a horizontal lme.

37 : :
Example 3 Graph 6 =—, rcos@ =4 and rsin 6 =-3 on the same axis system.

Solution
There really 1sn’t too much to this one other than doing the graph so here it is.

5_3_J‘T ¥ recos@=4

4 ‘-""'“-.__

d
/
W

f
[ W E ]

I
|

remné=-3 2




Circles
Let’s take a look at the equations of circles in polar coordinates.
1. r=a.
This equation is saying that no matter what angle we’ve got the distance from the origin
must be a. If vou think about it that is exactly the definition of a circle of radius a
centered at the origin.

So. this is a circle of radius a centered at the origin. This is also one of the reasons why
we might want to work in polar coordinates. The equation of a circle centered at the
origin has a very nice equation, unlike the corresponding equation in Cartesian
coordinates.

2. r=2acosé.
We looked at a specific example of one of these when we were converting equations to
Cartesian coordinates.

This 1s a circle of radius ‘a‘ and center (a.0). Note that a might be negative (as it was

in our example above) and so the absolute value bars are required on the radius. They
should not be used however on the center.

3. r=2bsing.
This 1s similar to the previous one. It is a circle of radius ‘b

and center (0.5).

4. r=2acos@+2bhsing.
This 1s a combination of the previous two and by completing the square twice it can be

shown that this is a circle of radius va> + 5> and center (a, b). In other words, this is

the general equation of a circle that isn’t centered at the origin.



Example 4 Graph r =7, r =4cos @, and r =—7sm @ on the same axis system.

Solution
The first one is a circle of radius 7 centered at the origin. The second is a circle of radius 2

centered at (2.0). The third is a circle of radius % centered at (0,—%} . Here is the graph of the

three equations.

b

_abk /
x\__‘\\-r _6 B \J--!_'.«'
7_3_'_ T p=-7siné

Cardioids and Limacons
These can be broken up into the following three cases.

1. Cardioids: r=a+acosf and r=a+asmné.
These have a graph that 1s vaguely heart shaped and always contain the origin.

2. Limacons with an inner loop : ¥ =a +bhcosf and r =a+hbsmé with a <b.
These will have an mner loop and will always contain the origin.

3. Limacons without an inner loop : ¥ =a+bcosé and r =a+bsiné with a >b.
These do not have an inner loop and do not contain the origin.

Example 5 Graph r =5—-5smé, r=7—6c¢cos@,and r =2+4coséd .

Solution

These will all graph out once in the range 0 <& <27 . Here is a table of values for each
followed by graphs of each.

e r=5—5smé& 7 =7—6¢cosé r=2+4cos@

T 5 13 2
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3- Tangents with Polar Coordinates.

We now need to discuss some calculus topics i terms of polar coordinates.

We will start with finding tangent lines to polar curves. In this case we are going to assume that
the equation is in the form » = f(6#). With the equation in this form we can actually use the
. .. dy
equation for the derivative d
X

equations. To do this however requires us to come up with a set of parametric equations to
represent the curve. This 1s actually pretty easy to do.

we derived when we looked at tangent lines with parametric

From our work in the previous section we have the following set of conversion equations for
going from polar coordinates to Cartesian coordinates.

x=rcost y=rsmé

10



Now, we’ll use the fact that we’re assuming that the equation is in the form » = f (9 ) :

Substituting this into these equations gives the following set of parametric equations (with fas

the parameter) for the curve.
x=f(6)cos

Now, we will need the following derivatives.

y=7(6)sinb

dx . L dy _ )
= '(@)cos@— f(6)sind —=f"(@)sinf+ f(6)cosO
= 1'(0)cos0- £ (0) 2 7'(0)sin6+£(0)
zﬁcosﬁ—rsinﬁ :£5i119+r0059
do de
The derivative d—‘ 1s then,
dx
Derivative with Polar Coordinates
dr .
v —smé+rcosd
v _ de
dx df‘

—cos@—rsind
do

11



. : . : T
Example 1 Determine the equation of the tangent line to ¥ =3+8sm 6 at 6 = ra

Solution
We’ll first need the following derivative.

ﬁ:80056
do

. . dy
The formula for the derivative d—J becomes.
»

dy 8cos@sin b +(3+8sinb)cos b _ 16cos@sin@+3cosd

dx 8c0529—(3+85i119)si116? "~ 8cos? @—3sin6—8sin’ O

The slope of the tangent line is,

5.3
4\/54—7 11\5

}’T_ 3 5
QZE _1,__ =

2
Now, at € =% we have = 7. We’ll need to get the corresponding x-y coordinates so we can

(;r] 73 _ (;r] 7
x=7cos| — |=—— y=T7Tsm|— |=—
6 6

2 2

get the tangent line.

The tangent line is then,

7 1W3[ 73
J? :—+ X —
2 5 2

For the sake of completeness here is a graph of the curve and the tangent line.
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4- Arc Length with Polar Coordinates.
In this section we’ll look at the arc length of the curve given by,
r=£(6) a<0<p

where we also assume that the curve is traced out exactly once. Just as we did with the tangent
lines in polar coordinates we’ll first write the curve in terms of a set of parametric equations,

x=rcosf y=rsiné

= f(6)cosb = f(6)siné

and we can now use the parametric formula for finding the arc length.

We’ll need the following derivatives for these computations.
dx dy

— = f"(6)cosO— f(6)sin b — = f"(6)sinB@+ f(6)cosb
= f(8)cost—1 () =1 (0)sino+ £ (0)c
zﬁcosé?—rsinﬂ :isi119+rcost9
de de

We’ll need the following for our ds.
2 2 2 2
(ﬂ] +(d—1} —(d—;cosﬁ—rsm@J +(isin€+rc055}
de deo dé de

dr 5 dr : 5 . 5
= % coSs 9—2?‘%305851119+r sm” 6

dr\ dr
J{—?J sin’ 6+ 2;‘—Icos(95i119+ ¥ cos’ @
de de

d Y . 5 .9 ' 2 .2
= (—IJ (cos™ @+sm” 9)+ r? (cos™ 0+sm” 5)
de
dr Y’
()
de
The arc length formula for polar coordinates is then,
L= jds
where,
ds=,[r" + [ d—}] do
de

14



Example 1 Determine the lengthof r =6 0<6<1.

Solution
Okay, let’s just jump straight into the formula since this 1s a fairly simple function.

sz;\/92+1 46

We’ll need to use a trig substitution here.

@ =tan x do = sec” xdx
6=0 0=tanx x=0
_ _ T
6 =1 l=tanx y==
_4
\/92 +1= \/‘[.21112 x+1 :\/sec2 X = ‘sec x| =secx

The arc length 1s then,

L=[\o*+1d6
:jise@xdx
0

T
1 4
= —(sec xtanx+In ‘SEC X+ tanx

)

0

(ﬁ+1n(l+\5))

_1
2
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5- Area Polar Coordinates.

The equation of a curve in polar coordinates is given by » = f(#). To find the
arca bounded by the curve r = f (8), the rays # = o and ¢ = 3, divide the angle 58— o
into n-parts by defining A9 = =2 and then defining the rays

g =a, 01 =09+ A0, ..., 0; =0;_1 + A0, n—9n1+A9—5

The area between the rays 8 = 6,_; , § = 6; and the curve r = f(6), illustrated in the

figure below, is approximated by a circular sector with area element

1 1
dA; = 5-1*?&6'3- =3 2(6;) Ab;

where Af; =60; — 6,_, and r; = f(¢;). A summation of these clements of arca between

the rays 8 = a and 9 = 3 gives the approximate area

i(ﬂ‘li:i r2Af; = Z 2(
i=1 i=1
r=i(a)

Area of circular sector=1»>a6

Approximation of area by summation of circular sectors.

This approximation gets better as A#; gets smaller. Using the fundamental

theorem of integral calculus, it can be shown that in the limit as n — o, the equation

1 .
defines the element of area dA = §-r2 df. A summation of these elements of

B 1 [P 1 [P
Polar Area:/ dA:E/ -erQ:E/ r2(0) do

area gives

16



Example 1. Find the area bounded by the polar curve
r=2rgcosf for0<6 <.
Solution
One finds that the polar curve r = 2rgcosé, for 0 < 6 < . is a circle of radius ro
which has its center at the point (rg,0) in polar coordinates. Using the area formula

given by equation (3.121) one obtains

— 2

Area = % / (2rgcosf)? df = 2?’3/ cos? 0 df = 'r’%/ (cos 20+ 1) df = r? {Sm 20 - 9}
0 0 0

2 0

So, that’s how we determine areas that are enclosed by a single curve, but what about situations
like the following sketch were we want to find the area between two curves.

=6

In this case we can use the above formula to find the area enclosed by both and then the actual
area 1s the difference between the two. The formula for this is,

Example 2 Determine the area that lies inside » =3+ 2sm & and outside » =2.

Solution
Here is a sketch of the region that we are after.

F=3+23n8

17



To determine this area we’ll need to know the values of @for which the two curves intersect. We
can determine these points by setting the two equations and solving.

3+2sma=2
5;1'116':—l = 9:7—Hﬁ“—ﬁ
2 6 6
Here is a sketch of the figure with these angles added.
F=13+2:8n8
4
° r=2 ar e

Note as well here that we also acknowledged that another representation for the angle 1% is

— 2% This is important for this problem. In order to use the formula above the area must be

enclosed as we increase from the smaller to larger angle. So, if we use X to 1% we will not
enclose the shaded area, instead we will enclose the bottom most of the three regions. However if

we use the angles —Z to X we will enclose the area that we’re after.

So, the area is then,
T

b 1 . 2 2
EE((3+25,-uue:#) ~(2)")de

6

Tx

_|° l(5+125i11t9+45in2 9)0’5

6

Tx

= 61(7+1zsma—2cos(29))d9

6

i
:%(?Q—IZCOSQ—sin(Zﬁ)) i
B
NS BT g
2 3
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Example 3 Determine the area of the region outside 7 =3+2sin 6 and inside =2

Solution
This time we’re looking for the following region.

r=3+2sné&

_ix __ & 7
g_ﬁ .?‘_2 9_ 6

So, this is the region that we get by using the limits % to 1% . The area for this region is,

11w
"6 1y : 2
A= 5((2)2—(3+231116?) )de

- ' ¥(757'l2 sin @ — 4sin” 9)&’9

= | .~ =(-7-12sin6+2cos(26))do

Uiz
6

:l'—wﬂzcosmsm 20
2

T

6

13 77

=———=2.196
2 3

Example 4 Determine the area that is inside both » =3+2smé and r=2.

Solution
Here 1s the sketch for this example.

19



r=3+2s5n8

117

- L5
67 f

In this case however, that is not a major problem. There are two ways to do get the area in this
problem. We’ll take a look at both of them.

Solution 1
In this case let’s notice that the circle is divided up into two portions and we’re after the upper
portion. Also notice that we found the area of the lower portion in Example 3. Therefore, the
area is,
Area = Area of Circle — Area from Example 3
2 .
=7( 2) —2.196
=10.370

Area = Area of Limacon — Area from Example 2

2 -
— [ L(3+2sin6) do-24.187
Jo 2
2T ].
= | —(9+12sin@+4sin’0)d6—24.187
Jo 2
o~ 2T
= E(11+125im9—24::{:-5(2@)),:;’(::'—24.187
< 0
1 2x
:E(l'16’—12cos(19)—si11(26’)) —24.187
0
=117 —24.187
=10.370

20
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Problems Sheet No.4
Problems.
A- Polar Coordinates.

1. For the point with polar coordinates (2. Z) determine three different sets of coordinates for the

same point all of which have angles different from 4 and are in the range —27 <0 <27.

2. The polar coordinates of a point are (—5., 0.23) . Determine the Cartesian coordinates for the

point.

3. The Cartesian coordinate of a point are (2.—6). Determine a set of polar coordinates for the

point.

4. The Cartesian coordinate of a point are (—8, 1). Determine a set of polar coordinates for the

point.

For problems 5 and 6 convert the given equation into an equation in terms of polar coordinates.

4,’
5. %: 6—,\:1"
3x7+3y°
4.’.
6. x* :—\73}’2 +2
u‘)

For problems 7 and 8 convert the given equation into an equation in terms of Cartesian
coordinates.

7. 61 sin@=4—cos @
8. E:sin@—sec(%'
-
For problems 9 — 16 sketch the graph of the given polar equation.
9. coséd :E
-
10. 6 =——
11. r=—14cosé
12. r=7
13. »=9smn 6
14. r =8+8cos b
15. r=5—-2smé

16. ¥y =4—-9sm @

22



Problems Sheet No.4
B- Tangents with Polar Coordinates.

1. Find the tangent line to 7 =sin(46)cos(68) at 6 = % .
2

: : 37
2. Find the tangent line to » = 6 — cos(@) at 8 =— .

C- Area with Polar Coordinates.

1. Find the area inside the mner loop of ¥ =3 —8cos @ .

8]

. Find the area inside the graph of » =7 +3cos @ and to the left of the y-axis.

. Find the area that is inside » =3+ 3sm @ and outside » =2 .

(Y]

. Find the area that is inside » = 2 and outside » =3+ 3siné.

=,

N

. Find the area that is inside » =4 —2cos & and outside =6+ 2cos 8.

. Find the area that is inside both » =1—sm @ and » =2 +smné.

=)

D- Arc Length with Polar Coordinates.

1. Determine the length of the following polar curve. You may assume that the curve traces out
exactly once for the given range of &.

r=—4smf,0<0<nx

For problems 2 and 3 set up, but do not evaluate, an integral that gives the length of the given
polar curve. For these problems you may assume that the curve traces out exactly once for the

given range of 4.

-2

.r=0cosf.0<0<nrx

3. r= Cos(2ﬁ)+siu(3(9), 0<8<27
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